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(Please read each of the following instructions carefully before attempting questions)
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1 There are eighteen (18) questions in all.
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2 Candidate has to attempt any fifteen (15) questions in all.
g @ Fw dsE (15) 9 &% A o &)

3  Marks assigned to each question/part are given against it.
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4  Word limit in questions, wherever specified should be adhered to.
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5  Attempts of questions shall be counted sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left
blank in the question-cum-answer booklet must be clearly struck off.
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6 No extra/additional sheet will be provided.
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7  Answer must be written in the authorized medium. No marks will be given for answers
written in a medium other than the authorized one.
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How can Verstehen be applied in Social research vis-4-vis other empirical methods ? 10

TERE (Verstehen) &1 37 sgwast adiwl &1 qon & qrmfoe orgee & % @ fean
S Feha 7

Explain the significance of ‘status groups’ vis-4-vis proletarian and bourgeons 7+3=10
classes.

aézmaﬂigﬁanwﬁﬁgamﬁ ‘Tafe agel” & wea & @ B

Proletarian revolution varies in degree and impact based on cultural context. 10
Explain the classic case of Cuban revolution.
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What are the factors resp&ﬁsible for high rates of homicide in lndiaku‘rzi“s per 10
NCRB records ?
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What is the process of m_ulticultural diversification of cities? Name four 8+2=10
such cities which have emerged as ‘melting pot of cultures’.

s@%wmﬁmw%?@ws@%wmvﬁ
Wil & faeT U % w9 § e ¥

What remedial measures should be adopted in family and society to stop toxic 10
masculinity from affecting women’s career progress? )
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Compare and contrast Western and Indian urbanization and the resultant 6+4=10
ghettoization.
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What is the paradox of rising population and sex-selective termination of 6+4=10
pregnancy? Cite an example from North West India.
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What are questionnaires and interview schedules? Distinguish between the 6+4=10
use and utility of the two.
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Is Sociology a science? Discuss with two examples. . 4+6=10
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What changes do you notice in the modern family and in the light of these 10
changes generalize whether there will be any disintegration in the family
in future?
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The history of hitherto societies has been the history of class struggle. 10
Discuss with one example.
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How does the relatioris’hip between globalization and cultural idéhtity, shape the 10
experiences of people in different parts of the world?
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Examine the views of Karl Marx on the relationship between technology 6+4=10
and social change, and how did this view influence his theones of historical
materialism.
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Explain the concept of ‘demographic dividend’ and its implicatiohs for 5+5=10

India’s economic growth. How can India capitalize on this demographlc
dividend?
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16 Differentiate between matrilineal and patrilineal descent systems. How might 5+5=10
these systems impact the distribution of power and resources within a society?
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17 Analyse the relationship between surplus value and exploitation in "f,_; 10
capitalist societies.
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18 Explain the concept of social Darwinism in Spencer’s theory. Critically 5+5=10
analyse the relationship between social Darwinism and social inequality.
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